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. e graph of y = x2 is shown as a dashed curve at right. Estimate the
2. The graph of y = x* is sh dashed ight. Estimate th
equations of the two other parabolas.
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3. Write each expression below in simplest radical form.
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3. Write each expression below in simplest radical form.
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3. Write each expression below in simplest radical form.
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3. Write each expression below in simplest radical form.
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@ Parent Graph Name:
-1
v) Parent Equation: 3 = ill =

x'l

w) Description of Transformation:

x) Sketch Transformed Graph, T (x)

(Parent is already shown)

y) Write coordinates of the new locator point.

z) Write Transformation function, T'(x)

aa) List domain of T'(x)

bb) List equation(s) of any asymptotes of T'(x)
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List range of T (x)

h) Describe any symmetry
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exomple 8 Cl)= x*+ax+]
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1. Explain the difference between the graphs of f(x) = % and g(x) = 4(ﬁ) +7
T oonits L\"ﬂ\ﬂﬂF than A (X))

5 onds  further lefy than f(*)

and  Stretched verdically 4 A®mes more
Fhan £(x)

q (x) 5

2. For each of the functions below:

a. Sketch y = f(x) , without your calculator.

b. Then sketch, with a dashed curve, f(—x). If you were absent last class, this
just means to replace every (x) with (-x) in the function.
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3. Find the x- and y-intercepts for the following parabolas
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sider the equation (x — 5)? 4 (y — 8)% = 16. What can you tell about the graph
by looking at the equation?
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- T
4.  Consider the equation (x — 5)% + (y.— 8)% = 16. What can you tell about the graph
just by looking at the equation?
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@ Parent Graph Name: vbic y .
.—-:-—--—____'-‘...—_.___.._‘ ’ T...r.,i
a) Parent Equation: T T 1
T

b) Description of Transformation: CT T A
O
! H ;

c) Sketch Transformed Graph, T(x) ! ; x{ !
(Parent is already shown) | - 1 B D

‘, rif _f_ /i |
d) Write coordinates of the new locator point. l o ‘Z; ; -

| |

e) Write Transformation function, T'(x)

f) List domain of T(x) List range of T (x)

g) List equation(s) of any asymptotes of T(x) h) Describe any symmetry

@ Parent Graph Name: Parabo\ al

4
) { L I
h) Parent Equation: f i |
|
i) Description of Transformation: \ ¢
¥ »
\ L
\"'\ /
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j) Sketch Transformed Graph, T (x) jﬁ % l
{Parent is already shown) . = ]
k) Write coordinates of the new locator point. : l T *‘- ;f
i..».’-v—r.,: HE |-
I) Write Transformation function, T'(x) CT ..LJ

m) List domain of T(x) List range of T'(x)

n) List equation(s) of any asymptotes of T'(x) h) Describe any symmetry
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r) Write coordinates of the new locator point. ! l T" = I 1 = 1
T
s) Write Transformation function, T'(x) (Tt
t) List domain of T(x) List range of T'(x)
u) List equation(s) of any asymptotes of T'(x) h) Describe any symmetry
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-\ {1 1 [ 1
v) Parent Equation: - —_— 1 1 i
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|
x) Sketch Transformed Graph, T(x) i{ '
(Parent is already shown) . i ~
| | g
y) Write coordinates of the new locator point. : ! 1 ) ' " —i
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z) Write Transformation function, T'(x) W L_ T ]
aa) List domain of T'(x) List range of T(x)

bb) List equation(s) of any asymptotes of T (x)

h) Describe any symmetry
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Parent Graph Name:
a) Parent Equation:

b) Description of Transformation:

c) Sketch Transformed Graph, T'(x)

(Parent is already shown)
d) Write coordinates of the new locator point.

e) Write Transformation function, T'(x)

f) List domain of T(x)

g) List equation(s) of any asymptotes of T'(x)
=<

Name

List range of T(x)

per,

h) Describe any symmetry

Wwork back wards

Parent Graph Name:
h) Parent Equation:

i) Description of Transformation:

j) Sketch Transformed Graph, T(x)

{Parent is already shown)

k) Write coordinates of the new locator point.

1) Write Transformation function, T'(x)

m) List domain of T'(x)
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List range of T'(x)

n) List equation(s) of any asymptotes of T'(x)

h) Describe any symmetry
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1.

PIRECTIONS: Simplify the following expressions. The 1
complete the statement correctly.

(3x2)(10x*)

Irena Sendler was bornin ____, Poland in 1910.
a. 138 Krakow
b. 30x# Lodz
c.  30x¢ Warsaw

(5mPn’)(8mn*)

Sendler was suspended from the school as a
result of her protest against the ; a form of

segregation in the seating of students.
a. 40mnn gender divide system
b. 40m‘n" ghetto-bench system
¢  13m*n® nationalized row system

(ab)(a’b*)

She studied at Warsaw University.
a. a%p” education

b. ath® medicine

c. a%h® Polish literature
Gy )N4xy)(3x)

During World War TI, she served as head of
the Jewish children’s section of Zegota, an

underground organization.
a. 27y financial aid
b.  6xtyt resistance

c 67y’ social welfare
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7o (3x4 .
& Undercover as a plumbing specialist, Sendler
7 < smuggled Jewish irfants out of the ghettosina -
a. -9x burlap sack
b. 9x¢ raincoat °
; [ S tool box
3
7. Gxypl2yp
When she was discovered by the Nazis she
was beaten and suffered :
a. 200x7y2 .broken arms and legs
b.  10x2y™ internal bleeding
¢ 150xyr loss of hearing
6. Catep
With the assistance of other Zegota members,
Sendler saved roughly " Jewish children
during the Holocaust.
a. ia‘b’” 25
b. 16a’ 250
1
c -;sa‘b"’ 2,500

8. CwwP(BmnX-2min)

In 1999, high school students in Kansas staged

a play based on Sendler’s life, titled

which was:adapted to a Hollywood film.
a. 4m®n¢ Holocaust Heroine

b. -“4m!ant Lifein a Jar
c. -8min2 Underwraps
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